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thS IFo) A AABC = ADEF & 1, t}& H7] = 22 A
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@ AB =DE, AC =EF, BC = DF
© ¢A = /D, (B=/F, AB=DF
© /B =/(F, /C=/(E, BC=FE
® AB=DE, /A =/D, /B=/E
® AC =FE, /A = (E, /C=/F

® /A=/D, /B=/E, /C=/F
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AABC = ADEF °©|E & tf-g-5| = ¥ | Zo|e} 7ke] 7|7} At
AB =DE, BC = EF, AC = DF, /A = /D, /B = (E, /C = (F




2 XOY ¢ 2717k 24 jEA A PR & °F
Z55kgS wl, AAOB = ACPD 98 K9l Zolt} (7h), (W), (T},
(2h ol gdute Aoz & 2ojx A9
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AAOB ¢} ACPD 9| A]

AAOB ¢} ACPD ©f|A]
OA =PC, OB=PD, AB=CD
.. AAOB = ACPD(SSS®%)




5. 2 1#ol|A /A =/D,BA =BDY

2 % %A 2 A0
® AACB = ADEB ® BE =BC
® /ACB = /DEB @)AE = BE

® /OEB = /0OCB

(B = &FZo|lBnR
AACB = ADEB (ASA &%)
w}z2tA] BE = BC, ,/ACB = /DEB ©]t}.
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ASARMES UEtl= 1ol

® FoiR 749l 27171 40° 9k 80° 0| B2 Y] ZHo] 27 =
60°°Jtt.
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7. The 299 SZRNA s+ 1y o) 3718 Fateler

/x =180°-100°=80°
Ly =180°-50°=130°
/x+ £y =80°+130°=210°
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A=12-3=9

9x12 =108

B =

ZJA+B+C=9+108+54=1T71




12, the 29e Aol 57 ABC 9 /B © of%

A} .C 9

9)7] o 5B M| WAL D 2t @ Folet. BDC 9 2718 Foh?

D

® 195° @ 20.5° ® 215° @22.5°

B

=

® 235°

A Zvo| SHAZFo| B2 /BCP = /BAP = 45°
AB=BC, BP = Z%

45° = /ABP = /CBP (-: °]58)

= AABP = ACBP (SAS ¥%)

= /90° = /BPA = /BPC
= /DPC =90°

(PCE =180°-/BCP =180°-45°=135°
135

/PCD = 1APCE = — =67.5°
2 2
w2tA /BDC = 180° — /PCD - /DPC
=180°-67.5°—-90°
=225°
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24, y 4ol ek y—x 9 & Fotolet (B y > x)

A 2] A4e0] T 1670, 2] 540 e a1 7

Lx=T7,y=9
G y-x=9-7=2°[ct.




15. T3 2%& AABC o ¥l AB, BC, CA S 77} & Wlo g st

4t7v4 ABD, BCE, ACFE 1d Zoltf. AB = 7em, BC =
10em, AC = 4em @ ™, 2779 BCFED ©] &) Zol& Fstofet.

=
> HEh. 32cm

ADBE ¢} AABC °|A

AABD + 4729 o|22 DB = AB

ABCE & #4Z+go|B2 EB = BC

/DBE = 60° - /EBA = /ABC

.. ADBE = AABC(SAS 35)

ojet 2 o= St

ADBE = AABC = AFEC (SAS &%)

w2bd @7+ BCFED 9| 8|9 Zol=
DB+DE+EF+FC+BC=7+4+47+4+10 = 32(cm)
oJtt,




